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Lesson 5-1 Part 1: Solving & Graphing Inequalities

Solving Inequalities

% Inequalities can be solved just like {iOUUQ‘ﬁ oNns

% If you _MHM)I__ o dvide by a ﬂ(%(lﬁ vé

number, you MUST __ YEVCYS €, the direction of the inequality symbol.

Graphing Inequalities

% On a number line, use a dosed Circle @  iftne inequality includes

“equal to” (ex: < or Z ). Use an Oi‘Jﬁﬂ Civcle O  ifitdoes
not(ex: 2~ __or < ). ‘

% Shade in the direction of the W\EOV\)Q\H'\'I g\’/ Wb\ as long as the variable

isonthe [ 'P"f’ side at the end!

Practice

1. Solve 2m +\§<> 113, and graph the solution set on a number line.
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m > 29 (DRI
o 271 2% 294 30
2. Solve -3(x + 5) = 201, and check your answer!
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3. A ticket agency has 275 tickets to a playoff game. Each caller receives 2 tickets.
0 tickets or less remainindy the agency tries to obtain more
tickets. How many callers ¢can betserved before more tickets are needed?

C=+ of Collers

So, they can
219 -2:¢ 250 have \\2 callers
215 ~215 befove needing
-‘%EEZ "_2-_%2 D flip < 10 et moxe
e ize Pt ) Hokess.

4, Solve 3x - 4 = 26, and graph the solution set.
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Lesson 5-1 Part 2: Compound Sentences

Vocabulary

intersection: _Te Set of i¥eme  SHARED by 4weo
ts or the Some e

Example: The students who have Mrs. MerritMrs. Mossburger
\_J— Union: the <t 0fF Wemne dhot bemn% 1o
dithey S+ OR bhoth  (ALL 1k

n/v

Example: The students who have Mrs. Merritt OR Mrs. Mossburger

In a picture...

Practice

Sketch each on a number line.

ALL-
1. x>5{rxs2 A Wt A
v 5 -4 -3-2-1 012 3 4 85
< ALl
2. x=3(0)x< -1 < ‘ >
5 -4 -3-2-10 12 3 48
¢ ALL

3. x2-3x<4
V

S -4 32101 2 3 4 5



= Shaved

4, X>- 2@xs4

v Aol
5. X< 2fland)x < -3

N

v Shaved

6. xa2.x< -1

Set Notation

7. {x: 2<x=4}

8. {m-1<ms 2}@{m: mz4}
ALL

9. {p:—35p<3}®{m:m>1}

IP
Yaved
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L.esson 5-7 Continued...:

Ask yourself...
1) What is the y-intercept? "\,”

2) What is the slope? (nse/run

3) Is the shaded area gregltert)han 0

Writing Linear Inequalities

mxﬁ-b

5> Shadt above

r(‘less than

@» Shadx eelovw

4} Is the line dotted or solid? (solid: include equal bar, dotted: do not

inciude equal bar)

Lov> Lov >
. Practice b
Write the equation for the line from each graph provided. \}-ih’r@
r
1. Equation: > [ ¢
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Lesson 5-2: Solving Systems by GRAPHING

Vocabulary

System of Linear Equations: _ (0 ©C+ 0% 7 or more linear
equotions W[ 2 ov wmore Vaviables.
Solution to a System: _ (1Y) DVC\(’Y?(" pawv _thot makes

both eguatnons Avye : GF , #) < anewer
3 P
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Graphing Systems on yéur CALCULATOR
*Remember, to put an equation in your calculator it MUST be solved for y.
STEPS:

1) Press Y =. Type the equations in under Y1 and Y2.

2) Press GRAPH. Make sure you can see both lines and the intersection point
on your screen.

*If you can’t, try ZOOM-STANDARD or ZOOM-FIT.

3) Press CALC (Located above the TRACE key)

4) Choose #5 - INTERSECT

5) Press ENTER to confirm each line. Press ENTER one more time when your
calculator says Guess?

6) Your solution will appear at the bottom of the screen!

\ Practice
‘\\\ 1. {y: 3x+2 VvV <« PUY N cale
o (2x-y=-3

\%u L a R\,%)\



Lesson 5-8: Graphing Systems of Linear Inequalities

Practice

Graph each system below. Then

(a) Identify two points that ARE solutions to the system, and

(b) §8) identify two pomts that ARE NOT solutions to the system.

Ope o L ¥
[y<lx “"‘k) 5 };g 1(\0? exoN
X

y= 2k +©w} 1

plurions .
PN/ blve,
combd

on-Sovs
O 0+

Pink/klve

4 \—’2) xov?

"lo

0‘7 b (2,3) . (0.0) 3 (I - 2)
b. (1.2) 8 (3-2) b (3 ol & M)




4.

The Biltrite Furniture Company makes wooden desks and chairs. Each item is
worked on by a carpenter and a finisher. On average, carpenters spend four
hours working on each chair and eight hours on each desk. There are enough
carpenters fo@e@vorker-hours per week. The finishers spend two hours
on each chair an our on each desk. There are enough finishers for@oi—é

1300 worker hours per week. Given these constraints, find the feasible -
combinations of desks and chairs that can be completed in a week.

Step 1: Define Variables Step 2: Orgamze thelnformatlon
C= chair H hve, r\) thair rmd; ‘. & y deck
d = desk < ?\V\“’“ ?mf" foYa )

Z’h‘-” (ﬁn Chﬂ\w &’ l h" f ?t\ QH’ 4"

N

< 1200 he dova)

Step 3: Write Inequalities Step 4: Graph the Inequalities
c+gd £ 00
He + €4 € g000 —, ,LIL,L e ey
qex "d " alone
“‘\ % oV
4 4 & f:—‘i\( + 00@
% ope )
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Lesson 5-3: Solving Systems by SUBSTITUTION

*To use this method, you must have ONE of the equations solved for ONE of the
variables.

3x+y=25
D y=[x-3

\%ﬂ)& -l-m)&—g :25

/

Y)Y =25 l
AN +3 {
e

A= 28 P
} | Y _ equations)
K=.1)Plvg x=T into
tr2 [ (20)

o Shavh n

g ‘ :
\{ -2, tquarionl @

Solve st €qvahi on \ 2x+ 5 8 = %
for “\5' ;
+y = - SN § OB
-x -2% 3? KO 'L‘O
:-_\'ZX { = =89
[1-24] Ag-32
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Lesson 5-4: Solving Systems by ELIMINATION

*To use this method, you must have the variables lined up. One of the variables

must havecoefficients, or tThe @ 00 6 cie .

+
[ ﬂf‘”{ ) +2y=4
Hiz-‘:’=—8 +3y="7
*x =L =-3
\igf = N g

\ Vg inve ot
Plvg insp ond 9 %
@ OF the migiraig) @? of Yhe oviqipats )
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X+ 3y =14 Avcwey - 2ZA¥24=

=-2
E L"\'?)Y:\"t (ZIL\) 2 X+ 2 =} % -
2 ~z " .!=
M ’2 b
" ) 6

’h’ Ytavwmcac,
“3x+y =10

Py in)
Y=3%x-10
y=34-10

Q’%} [ Prswev (1,2) \




Lesson: Systems w/ Word Problems
Practice

1) Bill and Emily are both ordering fast food for their families while on a road trip. Bill

orders 2 burgers @nd 3 orders @ french fries. The fotg} Tost of his meal is $8.50.
Emily orders 4 burgers @'2 orders Ehirench fries. The total cost of her meal is $11.

What is t%bmgqud an order of fries? p
pill: 2.( B+ 3F gF)()) +HF = 17 728+ 3F =¢ 50
ey HP +2F= | — 2%+ 3 150=1590
. -+ - 28+ 4 H0=¢.50
[So, F=9.50 & p=92| HE= U

Y50 -YH.SL
lg = 1k
F=&1.50 it gg =
2) There are 13 animals in a barn, some chickens and some pigs: re’are 40 legs in @

all,_How-many-cf each animal are there?
22+ = 13) — Rf+2p=20
20 + 4P =YD —v ZK+1P =10 CrP=12
& So, T piac & L owuowns & A -
Pz 2 Phvgind

3) Two schools are planning senior trips to New York " This year the senior class at
Grant High School rented (and filled) 1 van and 6 buses @372 students. The
senior class at Jefferson High School rented and filled 4 vans and 12 buses with 780

students. HWt can each van and gach bus hold?
OMSw(|V + B =312) = (Y+ 2HB= MY

JHS . JV+ 128 =180 & :r\’)_% 10 (e y-5a=21
=10E V4 25037,
Bg bus hovde 99, van holds I%l ..3 -3¢

P\\qu\
4} On a given day, 275 people attended the state fair. Adult tickets : nd child

tickets cost $5. On this particular day, the total ticket sales were $1 975 How many of
e of ticket were sold?

AL A+ 12719
(A F'C219) — X s A‘:CE; 2;15
TA+ BC=1915 — —uoo 200
1S9, 200 odunts, 1% m\\o\vm\ o C 15

PN int

5) The @ of two numbers is 7. The fl st num < @u ess than twice the secon
number. Find the two numbers. =

—

x-— -7
K-N= 7 —
= " ‘ %P—'ED Pivaint x"




Lesson: Special Types of Systems

Vocabulary
Name of Description Picture
System Type
Consistent hae a SO\WWAL ON ov

Inconsistent

No SoYV-H oN

Independent:

two hwee ave
R paratrl

\_/\%am&

Dependent

+wo wes \O\\, oN
0P of ont another

How Can We Tell?!?! Just by looking at an equation...

Slope-Intercept Form

y=mx+b

No Solution
ame <lope (m)
dvff. y-inrerce pr (v)

Infinitely Many Solutions,

Some slope. ()
sawe Y- i (v)

Standard Form
Ax+By=C

No Solution
Sove A &R w5
dife. C #

Infinitely Many Solution=

Save A, B &C #s



Practice

1 y=3x-1
SuB | y=l(6x—8)
1 N\
2x-1= 2 (L%-9)
1= A N0 sDvtion)
2. y=2x—-4
SUB | @[g_%
oY
2rt =5 (5 rm%)
g
—=—y W [I0finide Sowrions|




SOLYING SYSTEMS - Helpful Hints

Use SUBSTITUTION whenmn...

kone vaviable is alrtady alone |

Use FLIMINATION whemn...

* vaviables ave \iyad Up

X ¥ ‘ o
VS howve sane oy, OPPOSYC coeficients
- x

USE GRAPHING whemn...

* 0cked ol W



